
Geometry         

Chapter 6 Review 

 

Show all work for full credit!! 

 

1. Find the sum of the measures of the interior angles of a convex 50-gon. 

  

A 9000   B 8640   C 360   D 172.8 

 

 

2. Find the sum of the measures of the exterior angles of a convex 65-gon. 

  

A 5.54   B 90   C 180   D 360 

 

 

3. Which of the following is a property of a parallelogram?        

 

 A Both pairs of opposite angles is congruent.  

 B Diagonals bisect opposite angles.  

 C Consecutive sides are congruent.  

 D Diagonals are perpendicular  

 

 

4. For parallelogram ABCD, find m∠1. 

  

A 19     C 52 

 B 38     D 56 

 

 

 

5. ABCD is a parallelogram with diagonals intersecting at E. If AE = 4x – 8 

 and EC = 36, find the value of x. 

  

A 7    B 11   C 15.5   D 38 

 

 

 

 

6. Find the value of x so that the quadrilateral is a parallelogram. 

  

A 7
1

3
     C 12 

 B 8      D 66 

 

 

 

7. ABCD is a rectangle. If AB = 7x – 6 and CD = 5x + 30, find the value of x. 

  

A 5
1

3
  B 12   C 13   D 18 

 

 

 

 

8. Which of the following is true for all rectangles? 

 

 A The diagonals are perpendicular. 

 B The consecutive angles are supplementary. 

 C The opposite sides are supplementary. 

 D The opposite angles are complementary. 

 

  

Name: _____________________________________ Period: _______ 



9. ABCD is a rectangle with B(–7, 3), C(5, 3), and D(5, –8). Find the 

 coordinates of A. 

  

A A(–8, –7)   B A(–7, –8)  C A(–5, –3)  D A(–8, –5) 

 

 

 

 

 

 

10. For rhombus GHJK, find m∠1. 

  

A 90     C 52 

 B 64     D 38 

 

 

 

11. For isosceles trapezoid MNOP, find m∠MNO. 

  

A 42     C 82 

 B 70     D 110 

 

 

 

12. The length of one base of a trapezoid is 19 meters and the length of the 

 midsegment is 23 meters. Find the length of the other base. 

  

A 15 m   B 21 m   C 27 m    D 42 m 

 

 

 

 

13. For kite WXYZ, find m∠W. 

  

A 106     C 212 

 B 148     D 360 

 

 

 

 

 

14. ABCD is a parallelogram with coordinates A(4, 2), B(3, −1), C(−1, −1), and D(−1, 2). To prove that ABCD is a rhombus, you 

would plot the parallelogram on a coordinate plane and then find which of the following? 

 

 A measures of the angles   C slopes of the diagonals 

 B lengths of the diagonals   D midpoints of the diagonals 

  



15. Find the coordinates of the intersection of the diagonals of parallelogram XYZW with vertices 

   X(3, 0), Y(3, 8), Z(–2, 6), and W(–2, –2). 

 

 

 

 

 

 

16. Determine whether each quadrilateral is a parallelogram.  Justify your answer with a property if it’s a parallelogram or an 

explanation if it’s not a parallelogram.  

 

a)                b) 

 

 

 

a)  Yes <or> No (circle one)     b) Yes <or> No (circle one)   

Property/Explanation: _______________    Property/Explanation: ______________  

_________________________________    ________________________________  

_________________________________    ________________________________  

_________________________________    ________________________________  

 

 

17. For rectangle ABCD, find the value of x. 

 

 

 

 

 

  

 

 

 

 

18. For kite ABCD, if RA = 12, and BD = 18, find AD. 

 

 

 

 

 

 

 

 

 

 

 

 

19. In isosceles trapezoid ABCD, AE = 3x – 1,        

 EC = x + 5, and BD = 20. 

 Find the value of x.  

 

 

 

 

 

 

  



20. What type of quadrilateral is created from the following vertices?  Show work and explain (in words) your answer. 

       3,0 ,  B 1,4 ,  C 3,2 ,  D 1, 2A      

          Work 
        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

       Type of Quadrilateral:        
        

       Explanation:         

                

                

 

For numbers 21 – 27, determine whether the following statements are Sometimes (S), Always (A), or Never (N) true.  

 

 

21. A parallelogram     has four right angles. 

 

 

22. The diagonals of a rhombus     bisect the opposite angles. 

 

 

23. A rhombus is      a square. 

 

 

24. An isosceles trapezoid is     a trapezoid.  

 

 

25. The diagonals of a kite are     congruent. 

 

 

26. A trapezoid is     a parallelogram. 

 

 

27. A parallelogram is      a rectangle. 

 

 

 

 


